’TK FBAG A oh 20 18 H R AT (— ) B EEED

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

o BRE - RALBUEEMEL - 2REDBUMKE2/3 -

o (NEYIFEHEEERERER -

o LEFUMEBIKEET -

®  Super short form, light weight large Through-Hole, just as 2/3 of typical model
length.

® Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

m OIFNARME AR AT - (EER)

W Linear sensor can be attached.(optional)

= EHF|ERFHE Patent numbers :
&% : PATNO.M491534(Taiwan)
KPBE : PAT.NO.ZL201420584274.5(China)

W1 3~Mounting Hole 6~X2 25 Q P ﬁ 6~L1
N1 B LLATE =
A _
- | _ =
3 2 |y o el [ W oo o o
a 8 8 § g 8 s [ 8 8 ® ®
2x2~Q3
Pressure Port
i3, 4/
_4~Y2 |, | L
\f Zl
i \ T ]
RCT" L] g o | U L] et
Drain Port #37, = | =5
233 AlB P K
REBRBIB LR
Subject to technical changes
z H15371% SPECIFICATIONS
;@ itk JEZHTEES. piston area 112 REEEH e EREA | = mRRE
BR
;E # il (Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia = Weight Total oil leakage
Model
i cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min.
il TK-A528 73.0 69.7 12 8000 4.5 (45) 0.012 6.2 3.0
TK-A533 73.0 69.7 12 8000 4.5 (45) 0.012 6.0 3.0
TK-C643 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-A646 105.0 93.9 15 7000 4.5 (45) 0.018 7.3 3.0
TK-B646 105.0 93.9 15 7000 4.5 (45) 0.018 8.6 3.0
TK-C646 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 12.4 3.9
TK-A853 135.3 125.0 20 6300 4.5 (45) 0.032 11.8 3.9
TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 1.7 3.9
TK-A1068 170.1 155.3 25 5500 4.5 (45) 0.065 19.2 4.2
TK-A1075 170.1 155.3 25 5500 4.5(45) 0.065 18.8 4.2
TK-A1078 1701 155.3 25 5500 4.5 (45) 0.065 17.4 4.2

*EKERTERIEEFSHEMWHEE - *Coolant Collector and Confirmation Device Please See Accessories pages.

67 AUTOGRIP



’ TK 8 %G BY o 22 30 B8 BR T (— ) B e

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

ShEY R T DIMENSIONS
A E G1 G2

Model & B Cc D B H J K L L1 L2 M1 M2 M3
IDI h7 max.  min. | max. min.

TK-A528 105 141 125 125 /110 | 45 12 0 | 38 26 49 | 775 123 6~M8x20 M8x55 14 | M38x1.5 @ 25 13

TK-A533 105 141 125 125 110 45 12 0 A 38 26 49 | 77.5 123 6~M10x20 M8x55 14 | M38x1.5 25 13

TK-C643 128 156 140 140 120 65 | 15 | O | 44 29 56 85 125| 12~M10x20 M8x60 12 M50x2 25 13

TK-A646 128 162 147 147 130 65 15 O 44 | 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13

TK-B646 128 162 130 147 100 65 15 O 44 29 66 | 95 135 12~M10x20 M8x70 12 M55x2 30 15

TK-C646 | 125 156 140 140 120 65 15 O 44 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13

TK-B846 145 185 170 165 130 70 20 O H 48 28 66 | 95 135 12~M10x20 M8x70 12 M55x2 30 15

TK-A853 145 185 170 165 140 70 20 O K 48 | 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15

TK-B853 145 185 170 165 130 70 20 O K 48 28 66 | 95 135 12~M10x20 M8x70 12 M60x2 30 15

TK-A1068 170 212 190 190 160 95 25 0 50 25 74 108 158 12~M10x20 M10x80 & 16 M75x2 35 15

TK-A1075 | 170 212 190 190 160 95 25 O 50 25 74 108 158  12~M10x20 M10x80 & 16 M85x2 35 15

TK-A1078 | 170 212 190 190 160 95 25 O 50 25 74 108 158  12~M10x20 M10x80 | 16 M87x2 35 15

01 02 R S
Model N1 N2 | N3 P Q1 Q2 Q3 T u \ W1 W2 X1 X2 Y1 Y2 z
H8 | H8 a7 H7

TK-A528 (M39x15 25 |8 35 28 79 85 30 RC14 37 62 70 98 6 62 | 110 49 M6x6 83 | M5x6 | 5

TK-A533  M39x1.5 25 |8 35 33 79 85 30 RC14 37 62 70 98 6 62 | 110 49 M6x6 83 | M5x6 | 5

TK-C643 | M52x15/ 29 | 9 45 43 87 85 36 RC3/8 50 76 |8 116 95| 74 | 120 64 M6x10| 98 | M5x6 5

TK-AB46 | M52x15 29 9 50 46 87 85 36 RC3/8 50 76 |8 116 95| 74 | 120 64 M6x10 98 | M5x6 5

TK-B646  M52x1.5 29 9 50 46 97 85| 36 RC3/8 50 | 76 |8 116 95 74 | 120 64 M6x10 98 M5x6 5

TK-C646 | M52x1.5/ 29 9 50 46 87 85 36 RC3/8 50 76 |8 116 95| 74 | 120 64 M6x10 98 | M5x6 5

TK-B846 | M58x1.5/ 30 8 50 46 97 85 36 RC3/8 56 85 | 96 128 115/ 79 | 130 73 ' M6x12| 110  M6x6 5

TK-A853 | M58x1.5/ 30 8 55 53 97 85 36 RC3/8 56 8 | 96 128 115 79 | 130 73 M6x12 110  Méx6 5

TK-B853 M58x1.5 30 8 55 53 97 85| 36 RC3/8 56 | 8 |96 128 115 79 | 130 73 M6x12 110 M6x6 5

TK-A1068 =M84x2 |34 9 70 68 110 12 40 RC1/2 81 108 |121 164 10 | 98 | 160 98 M6x12| 155  M6x8 5

TK-A1075 = M84x2 |34 | 9 80 75 110 12 40 RC1/2 81 | 108 121 164 10 | 98 | 160 98 'M6x12| 155  M6x8 5

TK-A1078 = M84x2 |34 9 82 78 110 12 40 RC1/2 81 108 | 121 164 10 | 98 | 160 98 M6x12 155  M6x8 5

zE
i
£
a
L
i

AUTOGRIP 68



’TK e A ch 2 E R BRG] () BEEENEL

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

o BRE - RALBUEEMEL - 2REDUKE2/3 -

o (NERIFHEHEERERER -

o ZERRUBEIKHEZ -

® Super short form, light weight large Through-Hole, just as 2/3
of typical model length.

® Built-in safety check valves and pressure relief valves.

°

Can screw it from the rear end of the cylinder when mounting.

CIff MNARMEE AL RS - (EREm )

Linear sensor can be attached.(optional)

=z O =10,

B ERERZFEI Patent numbers:
&% : PATNO.M491534(Taiwan)
KEE : PATNO.ZL201420584274.5(China)

W1 3~Mounting Hole 6~X2 25 al P ﬁ 6~L1
N1 *H* i .
- — =
o Ogn—wncmim“ét;: w w o o o
o 8 & § § O 50 % s § 8§ ¥ 8
2x2~Q3 M1
Pressure Port
i, 4/
_4~v2 |, | L
Z
\
H G1
RC1" g
Drain Port 14, & | &2 ,
233 Dr
REBRIBIELHHER] A\ \B = K
Subject to technical changes
i #5214 SPECIFICATIONS
itk SEZEETEES. piston area 112 BREaEE ReEREN | 2 HERE
Vodel # {8 (Extend) HiI{Al(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight Total oil leakage
ode cm? cm? mm min”(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TK-A1287 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1291 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1511 336.4 315.2 30 3000 3.5(35) 0.38 57.9 7.0
pac] TK-A1512 336.4 315.2 30 3000 3.5(35) 0.38 53.8 7.0
H TK-A1512-35 336.4 315.2 35 3000 3.5(35) 0.38 53.8 7.0
BR
% TK-2114 373.2 336.1 35 2500 3.0 (30) 0.54 58.2 8.0
[ SMEIR~F DIMENSIONS
a A E G1 G2
Model A B C D 7 ) . H J K L L1 L2 M1 M2 | M3 N1
h7 max. min. max. min.

1.D.

TK-A1287 200 245 215 225 180|110/ 30 O 59 29 86 126 | 184 12~M12x24 M10x90 | 14.5 M95x2 35 | 15 M99x2
TK-A1291 200 245 215 225 180 110 30 O 59 29 86 126 184 12~M12x24 M10x90 14.5 M100x2 35 15 M99x2
TK-A1511 250 | 300 | 275 275 230|140/ 30 O 58 28 102 156 | 226 12~M16x36 M12x110 | 21 M120x2 45 | 15 M129x2
TK-A1512 250 1300 275 275 230 140 30 O | 58 28 102 156 226 12~M16x36 M12x110 21 M130x2 45 15 M129x2
TK-A1512-35 | 250 300 275 275 230 140 35 0O | 63 | 28 102 161 231 [12~M16x36 M12x115 21 |M130x2 45 | 15 | M129x2
TK-2114 265 320 | 295 295 240 165/ 35 O 60 25 115/173.5247.5 12~M16x32 M12x120 | 17.5 M155x2 45 | 20 M149x2
1 2 R S
Model N2 ' N3 (l-)18 (I-DIS P Q1 Q2 Q3 o7 H7 T U vV w1 W2 X1 X2 Y1 Y2 z

TK-A1287 38 90 87 | 1275 15 45 RC1/2 96 120 | 138 | 180 110 185 108 M6x10 165 M6x10

TK-A1291 38 95 91 | 1275 15 45 RC1/2 96 120 | 138 @ 180 110 | 185 108 M6x10 165 | M6x10

TK-A1511 38 115 110 | 163.75 17 | 50 | RC1/2 | 126 = 150 170 | 227 134 ' 210 @ 138 | M6x10 | 210 | M6X9

TK-A1512 38 125 | 120 | 153.75 | 17 50 RC1/2 126 150 | 170 | 227 134 210 138 M6x10 210  M6x9

TK-A1512-35 38 125 ' 120 158.75 | 17 | 50 RC1/2 | 126 | 150 | 170 & 227 134 210 138 | M6x10 | 210 | M6X9

© © © © © ©
N NN N NN
o o o o o »m

TK-2114 38 145 140 170 17 | 50 RC1/2 | 146 | 170 190 & 250 145 210 | 160 M6x10 230 = M6x10

*EKERITERIDEEZELSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.
69 autocrip



’ TK BAERPEEEHE (=) BEmENED

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

SFARRE - AT R AL -
PRI L R B SRS K JER )0 R -

New design, short form, light weight large through-hole.
Built-in safety check valves and pressure relief valves.

M NAREEAI A RS - (EEm)

Linear sensor can be attached.(optional)

= EHFERFIR Patent numbers :
& : PATNO.M491534(Taiwan)
AP : PAT.NO.ZL201420584274.5(China)

wi exe 2> B P 6L
N1 7
yp—— L/S/ _
X ES e N —
z 9 ||N2 )
YA - @3‘
8}:{* *}——°9|—wn:8 5 Lw|lo|lm
. SR 50 (& Frwcl\nz@@@@
2x2~Q3 \
Pressure Port A, N — U]
g AM1
N TKL
4
4~Y2 Z
R H G1
RC1” X o v N |
Drain Port 333, \ G2 j J
(TK-2820:M40x1.5) 033 (TK-2820:039) | |l K
Dr
Bl
IREBRABIE LR T
Subject to technical changes
K ifi#R1& SPECIFICATIONS
itk SEZE TS Eff. piston area 112 SOkt =afEREN I 3 BERE
18 (Extend) i) (Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight Total oil leakage Zz
Model N
cm? cm? mm min”(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min. ;;Ii
TK-2416 4184 375.4 35 2000 3.0 (30) 1.12 78.0 9.0 ;@
#
TK-2416L 4184 375.4 51 2000 3.0 (30) 1.31 79.2 9.0 ;}[
TK-2820 526.2 472.6 51 1600 3.0 (30) 2.4 134.0 10.0
SR ST DIMENSIONS
A E G1 G2
Model g B Cc [F N . H J K L M1 M2 M3 N1 N2
A7I.D. h7 max. | min. | max. = min.

TK-2416 290 340 300 260 | 190 35 O | 60 | 25 129 1855 @ 275 | M16x32 | M180x3 45 20 | M174x2 = 38

TK-2416L = 290 340 300 260 @ 190 | 51 0 76 | 25 145 2015 291 M16x32 | M180x3 | 45 20 | M174x2 @ 52

TK-2820 340 395 360 320 @ 235 51 0 | 76 | 256 | 162 2125 @ 316 &= M20x40 M220x3 | 45 20 M218x2 52

O1 02 R S
Model P Q1 Q2 Q3 T u \ W1 W2 X1 X2 Y1 Y2 Z
H8 H8 g7 H7

TK-2416 170 | 166 1 186.5 20 | 50 RC1/2 171 202 220 292 | 7 167 | 250 188 @ M6x11 260 @ M6x12 5

TK-2416L 170 | 166 2025 20 50 RC1/2 | 171 202 | 220 292 7 167 | 250 188 Méx11 | 260 = M6x12 6

TK-2820 210 | 205 216 | 21 50 | RC1/2 215 262 285 360 | 7 2025 | 300 | 240 M6x12 320 M6x12 6

*EKERITERIDEERLSHSMBEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.
autocrip 70



AL 8 g AU o 28 900 BE 5 [BR ] KA SBIRR
SHORT TYPE ROTARY HYDRAULIC CYLINDER WITH BIG-BORE THRU-HOLE AND SAFETY DEVICE

i Ts

EHIREERET - AL LB S ER G -
BAASNEEACREMIN 2 EBALNERIERX -
RS | B SR AR R R TR R -

ZERFERERHEEZ

Bigger bore through-hole design.Super short form, light weighted.
Built-in safety check valves and pressure relief valves.
Front/Rear end mounting.

O3 fE @40 5 @60 MNABEKERDE -

O AR M BN R RS - (EMEm)

Diameter of coolant collector’ s drain port is optional.
Default : @33 ; optional : @40, J60.

Linear sensor can be attached.(optional)

EHREmZFI Patent numbers:
&% : PATNO.M491534(Taiwan) / APE : PAT.NO.ZL201420584274.5(China)

0=

W1

2~ BRI A
Mounting Hole

1

N
2x2~Q3

/ .
I B 358
“a3m5L 0= JR B S
]

LJ

IR g7

Pressure Port

W2

AL

Drain Port ~ gﬂ

1

50

Q
@

REBRABIELROER

Subject to technical changes AllB ﬂr
A #1% SPECIFICATIONS :
o Eidhr JEEETE Eff. piston area 718 RimaEH EeERESN | S RERE
% — # {8 (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure | Moment of inertia Weight Total oil leakage
J& cm? cm? mm min”(r.p.m.) MPa(kgf/cm?) kg'm? kg lit. / min.
ol TS-539 724 67.1 15 8000 4.5(45) 0.012 6.9 3.0
ﬁ TS-866 168.0 (5585 25 5600 4.5(45) 0.056 16.3 4.0
TS-1081 189.2 174.3 25 4800 4.5(45) 0.085 21.2 4.3
TS-1210 231.7 222.0 30 3500 3.5(35) 0.193 35.6 6.0
AR ST DIMENSIONS
A E G1 G2
Model ITqé‘;Té B B1 C D h7 F max. | min. | max. | min. H d] K L L1 L2 M1 M2 | M3
TS-539 107 143 141 125 125|110 | 52 15 0 425 275 57 91 124 6~M10x20 M8x60 | 12 | M45x1.5 25 | 12
TS-866 165 211 207 190 190 168 | 85 25 0 55 30 725 107 149 12~M10x20 M10x80 17.5 M75x2 | 35 15
TS-1081 180 226 222 205 205|168 | 100 25 0 58 33 74 115 166 | 12~M10x20 | M10x80 16 M90x2 | 35 | 15
TS-1210 210 | 263 | 260 | 240 240 200 125 30 0 64 34 935 136.5193.5 12~M10x20 M12x100 20 & M115x2 | 35 15
Model N1 N2 N3 of o2 P Q1 Q2 Q3 R S T U vV o wit | w2 X1 X2 Y1 Y2 Z
(H8) | (H8) 97) | (H7)
TS-539 M44x1.5 26 8 42 39 85 85 30 RC1/4 42 69 |72 103 10 62.5 100 54  M6x10 = 90  M5x12 | 5
TS-866 M74x1.5 | 37 8 | 72 | 66.5 105 12 45 RC1/2 | 72 100 111 154 | 12 95 140 | 88 M6x12 140 M6x10 | 5
TS-1081 M89X2.0 38 9 | 8 | 81 109 15 45 RC1/2| 86 113 123 175 16 103 160 103 M6x12 | 160 M6X10 5
TS-1210 M118x2.0 47 | 9 110 106 131 16 46 RC1/2 115 145 151 210 16 103 160 133 M6x12 195 | Mé6x11 @ 5

*EKBRITEEREEFSHTMEEE -

71 AuTOGRIP

*Coolant Collector and Confirmation Device. Please See Accessories pages.




[y
gt
[t
iy
il
ftH

Cp 22 30 §8H BR ]

ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

A ™

=

HBEE K8 KAKLEIREHRET -
WL |7 B SHEE - oML BRI ESACE MBS - BIREBNAR
B - MEERHAERBNRIFIEY -

®  Super high speed, light weight large Through-Hole.

® Built-in check valve which prevents the internal pressure from sudden
declining so that the workpiece will not fly out and cause a serious accident.

n ORI SRR - (BEm)

= Linear sensor can be attached.(optional)

|
|
I
oS -l wnl 87 = ww ool o
3 oL
mERSIRSIRSIES &M3~“Mv®&&®®
1
7 ) M1
A
4/ ‘ N
X2/ L
] VA== B
(TH-428:RC3/4”) / — 3 G2 = H G1
RC1" Drain Port ~ G——1 =
SEHA L J
B33 | (TH-428:926.5) ‘ K
bt
i
REBRIBIE AR :Hﬂ
Subject to technical changes /!
BR
g #i1& SPECIFICATIONS ZE
RIS JEZHETE Eff. piston area 1772 EeEY EaEREN | £ BRRE [
848 (Extend) I8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia = Weight Total oil leakage il
Model
cm? cm? mm min”(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TH-428 53.2 50.5 10 8000 4.0(40) 0.008 5.8 3.0
TH-A536 69.8 67.5 15 8000 4.0(40) 0.05 8.3 3.0
SMEUR~F DIMENSIONS
A
Model A B C D E F & G.1 e G.2 H d K L M1 M2 M3
ID. (h7) max. min. max. min.
TH-428 90 130 | 120 | 100 80 | 40 10 0 35 25 | 45 1275 155 6-M8x15 M33x1.5 25 12
TH-A536 105 | 150 @ 135 | 115 | 100 @48 15 0 40 25 40 118 @ 166 | 6-M10x20 M42x1.5 25 15
o1 02 R
Model N1 N2 (H8) (H8) P Q1 Q2 Q3 @7) S T U \Y W1 W2 X1 X2
TH-428 M34x1.5 26 30 28 1015 11 24 RC1/4 32 45 65 86 4 72 105 76 M4x7
TH-A536 M44x1.5 | 28 38 36 1115 10 24 RC1/4 42 55 73 98 4 80 110 83 M5x10

*EKERITERREBEZESHSMAEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.

AUTOGRIP 72



SMALL TYPE ROTARY HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

’ TR BQ 5 AU oh ZC 28 #8 5 ER f] BEERRER

S REER  ESKI -
NESANF | FREBERE 22 REEEE
REEHAEAR M - AHEKX - HOHIE -

BHLEREARNHETEME - ZHEHEEE -

O ERMR I 0BT 8 -

This is a compact, short form, light weight through-hole rotary cylinder.
With patented build-in safety check valves and pressure relief valves.
Large feed port and drain port, large input and keep drain smoothly.

Can be screwed from the front end or rear end of cylinder when mounting.
For use with vertical or horizontal spindles.

Sl MNARMEE AL AR AR - (R )

Linear sensor can be attached.(optional)

o

B ERERZFEI Patent numbers:
&% : PATNO.M491534(Taiwan)
AKPBE : PAT.NO.ZL201420584274.5(China)

Q1 P . L2 6~L1
S 250 6~V2 W.H — | .
£ E—
N1 ]
g MO
1 - 5 N2 | N3 -
o e | o NN [)€3 3 &
\g 9 )
i W E=] STSIES s | &
2x2~Q3 S - f
Pressure Port I T
#aomFL [{:i}l LU
—
U1 ‘\ U1 4~W2 N —
| 4~VVe,
b | B iy
Drain Port
A, J 21
G2 K G1
I
REBRBIE LA ETR
Subject to technical changes Al \_|?l’
F: it #5348 SPECIFICATIONS
Eith JEZEHETE Eff. piston area 712 EedEgy EafEREN | s BERE
— 848 (Extend) i (Retract) Piston stroke Max. speed Max. pressure Moment of inertia |~ Weight Total oil leakage
oce cm? cm? mm min”'(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
. TR-539 724 67.1 15 8000 4.0(40) 0.010 6.8 3.0
;E TR-646 105.0 93.9 15 7000 4.0(40) 0.015 9.5 3.0
53 TR-853 135.3 125 20 6300 4.0(40) 0.032 11.5 3.9
;g TR-1075 170 155 25 4500 4.0(40) 0.065 18 4.2
ﬁ_Ir TR-1291 234 217.5 30 3500 4.0(40) 0.092 295 45
SR <) DIMENSIONS
A B G1 G2
Model |7I‘§E1)§§ B C D h7 F max. | min. | max. | min. H dJ K L L1 L2 M1 M2 M3
TR-539 107 ' 143 1 125 125 110 52 15 O 34 19 4 97 | 133 = 6-M10x20 M8x60 12 | M45x1.5 25 12
TR-646 128 165 147 147 130 65 | 15 0 34 | 19 | 3.5 | 97 135  12-M10x20 M8x60 11.5 | M55x2 25 13
TR-853 145 185 165 170 130 70 | 20 O | 47 27 4.5 1185 160  12~M10X20 M8x75 12 M60x2 30 15
TR-1075 170 212 190 190 160 95 | 25 O 52 | 27 | 45 1295 181  12~M10x20 = M10x85 16 M85x2 B5) 15
TR-1291 200 248 225 215 180 110 30 O | 59 29 5 146 1240.5 12~M12x24 | M10x95 16 | M100x2 @ 35 15
01 02 R
Model N1 N2 N3 Ha Ha P Q1 Q2 Q3 I S T U1 u2 V1 V2 W1 W2 4 Z1

TR-539 M44x1.5
TR-646 M52x1.5
TR-853 M58x1.5

25 42 | 39 925 65 26 RC1/4 42 40 103 525 55| 53 Mb5x8 | 90 | M5x9 RC 1/2
25 | 50 46 95 5 32 RC3/8| 50 50 116 59 62 61.5 M5x9 98 | M5x9 RC 1/2
30 | 55 53 | 114 8 34 RC3/8| 56 | 50 128 65 67 | 70 M5x10 110 | M6x11 RC 1/2
TR-1075 M84x2 33 80 75 1235 12 40 RC1/2 81 50 164 83 86 | 95 M5x10| 155 M6x11 RC 3/4
TR-1291 M99x2 38 95 91 139 14 45 | RC1/2 96 50 180 915 93 110.5 M6x12 165 M6x12 RC3/4

*EKERITERIDEERLSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.
73 AUTOGRIP

© | © 0 @ |
a o o o o




[SEEvSRS

Py L 78 o S 28 83 BR ]

ROTATING HYDRAULIC CYLINDER WITH SAFETY DEVICE

A RK

o A . HiF . KSIVEEHEG -
o NEI IR SHIAE KR TR BR R -
o LRI UMEBIKEELT -
®  For short form, light weight and high speed rotary cylinder.
® Built-in safety check valves and pressure relief valves.
® Can screw it from the rear end of the cylinder when mounting.
n RAREBLERZELOEEE DBRELERE -
m  The drain port should be independently connected to oil tank to avoid back
pressure.
L2
He—=——==
6~L1
8
: 8 85g
A B \_‘DI” é— SIRS) Q
/ g
- RC1/4” o
Drain Port JE#4L
2~RC3/8” (RK-200:RC1/2") E
(RK-75:60) Pressure Port #5387, SN
H G
2~RC1/2
4
Pressure Port  #5H7FL Qa p J
o | 1
A B NA)
=] N2\
jo! B
RC3/8” ﬁL
Drain Port J#jiif, ~ Dr R
REIEEWA R RK-250
Subject to technical changes
F: T #5348 SPECIFICATIONS
Fidk JEZEETE Eff. piston area 7% e aEE EafERER I B8
o # {8 (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight ZE
oce cm? cm? mm min”'(r.p.m.) MPa(kgf/cm?) kg:m? kg H
B
RK-75 442 371 15 6000 4.0 (40) 0.01 29 %
RK-100 78.5 71.5 20 6000 4.0 (40) 0.03 4.4 [
il
RK-125 122.7 1131 25 6000 4.0 (40) 0.05 6.9 &
RK-150 176.7 160.8 30 5500 4.0 (40) 0.09 9.5
RK-200 314.1 290.4 35 5500 4.0 (40) 0.28 15.4
RK-250 469.1 436.0 60 2000 5.0(50) 0.40 452
4R~ DIMENSIONS
E G G M
Model A B C DI D2 o F max mn MY K L L1 L2 g N NP Q R S
RK-75 75115 107 90 90 | 65 30 45 30 57 148 M20x2.5 | 6-M8x16 M8x60 | 12 21 1 35 5 415 10 |27.5 26
RK-100 100 20 132 115|100 80 | 30 @ 45 | 25 72 163 M20x2.5 6-M10x20 = M8x75 | 12 | 21 | 35 | 5 [39.5 10 28.5 32
RK-125 125 25 160 140|130 110 35 50 | 25 82 172 M24x3.0 6-M12x20 = M8x85 | 12 | 25 | 45 | 5 |38.5 10 28.5 32
RK-150 150 30 190 170 130 110 | 45 55 | 25 95 184 M30x3.5 12-M12x24 M10x100 16 32 | 45 5 | 37 10 28.5 32
RK-200 200 35 245220145120 55 70 @ 35 115201 | M36x4.0 | 12-M16x30 M10x125 21 38 60 5 | 38 6 28.5 28
RK-250 245 60 307 275 220 160 65 85 25 165|255 M42x3.0 12-M20x35 M16x175 28 45 65 12 33 |18 6 -

AUTOGRIP 74



S 3000 B3 5 [BR ] ST AL
ROTATING HYDRAULIC CYLINDER

o JHA . BiF - KSIVEEHREG -
o ZERRUBERHEE -
®  For short form, light weight and high speed rotary cylinder.
® Can screw it from the rear end of the cylinder when mounting.
n CEHAREBRUEBEELMEE  DUBRELEE -
m  The drain port should be independently connected to oil tank to avoid back
pressure.
Lﬁ?
[
——F — L,
2 6~L1 & ]
= L
N el —
A N A:1.D. A& N1
A B |Dr 3 m B:St. 17/ || - )
4 Sl u W o=
N B . N @l Ql Q| Al QO (é)
g L TS — 1 Ql Q
- b N K
RC1/4” !
Drain Port 38587 ‘ R ‘ ‘ P
Q
2~RC3/8"(RK-200N:RC1/2") — 5 L
(RK-75N:60) Pressure Port  #35#7L I
‘ 77 5(RK-250N:90) H G
J
(REBIAE SRR
Subject to technical changes
R ili#31% SPECIFICATIONS
itk JEZEMETE Eff. piston area 112 B OEE BefEREN | 52
{8 (Extend) HiI{fl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min'(r.p.m.) MPa(kgf/cm?) kg-m? kg
i RK-75N 44.2 371 15 6000 4.0(40) 0.01 2.8
i
e RK-100N 78.5 715 20 6000 4.0(40) 0.03 43
B
B RK-125N 122.7 1131 25 6000 4.0(40) 0.05 6.8
;? RK-150N 176.7 160.8 30 5500 4.0(40) 0.09 9.4
RK-200N 314.1 290.4 35 5500 4.0(40) 0.28 15.3
RK-250N 469.1 436.0 60 2000 5.0(50) 0.40 452
SR ST DIMENSIONS
E G G M
Model A B C | DI D2 (h7) Flmax| mn. | H J K L L1 L2 (H8) N N P Q R S
RK-75N 75 15 107 90 | 90 65|30 45 30 57 134.5| M20x2.5 6~M8x16 M8x60 | 12 21 35 5 28 | 10 27.5 26
RK-100N 100 20 132 115 100 80 30 45 25 72 1495 M20x2.5 6~M10x20 M8x75 12 21 35 5 26 10 285 32
RK-125N 125/ 25 160 140 130 110 35 50 25 82 159.5 M24x3.0 @ 6~M12x20 M8x85 12 25|45 5 | 26 10 285 32
RK-160N 150 30 190 170 130 110 45 55 25 95 1725 M30x3.5  12~M12x24 M10x100 16 32 45 5 26 10 285 32
RK-200N 200 35 245 220 145120 55 70 35 115 1925 M36x4.0 12~M16x30 M10x125 21 |38 60 5 30 6 285 28
RK-250N 245 60 307 275 220 160 65 85 | 25 165 255 & M42x3.0 6~M20x2.5 M16x175| 28 45 65 12 37 18 6 -

75 AUTOGRIP



il
P
i3
il
ft

RH ch & B2 BRG]
ROTATING HYDRAULIC CYLINDER

LDEREREIRERAERESSREMNMN  E85K -
EEBAARKRET  EEABNEEERINEB R LA - MAEm S &
L IEREM -

® The rotary valve and cylinder body, all made of special light alloy, light-
weight.

® Through unique design, the rotary valve enables the inside bearing to get
sufficient lubricating and cooling and endure high-speed rotary for longer
service life.

B ORRAREBRNEBERMEE  DURRELSE -
B The drain port should be independently connected to oil tank to avoid back

pressure.
L
o A B L br . alo
5
RC1/4”
Drain Port J2H7,
13(RH-200:14)  pressure Port &7,
6
102 H G
J
Sutiectt chriot changes
AT #31E SPECIFICATIONS
EiEk SEZEETE Eff. pigton area 712 B OEg e ERES I 58
#{l (Extend) Hi1fil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight Zz
Model cm? cm? mm min”(r.p.m.) MPa(kgf/cm?) kg-m? kg /Eﬂ
RH-65 31.0 27.9 15 6000 3.5(35) 0.01 29 ;E
RH-80 477 4238 15 6000 3.5(35) 0.01 3.4 B
RH-100 75.4 70.5 20 5500 3.5(35) 0.04 4.9 i
RH-125 119.6 112.5 25 5500 3.5(35) 0.08 6.8
RH-200 310.0 286.3 35 4000 4.0(40) 0.38 20.4
SMEUR NS DIMENSIONS
Model A B Cc D (hE7) Flo | S J K L (m}) N P Qa R s
RH-65 65 15 198 80 60 22 45 30 73 175 | M12x1.75x30 | 6~M8x16 14 4 RC3/8 30 15 45
RH-80 80 15 112 90 65 25 | 45 30 74 176 | M16x2.0x30 | 6~M8x16 17 4 RC3/8 30 15 45
RH-100 100 | 20 135 100 80 | 25 45 25 885 | 190.5 M16x2.0x30  6~M10x20 17 4 RC3/8 30 15 45
RH-125 125 | 25 160 130 110 30 50 25 955  197.5 M20x2.5x35 6~M12x20 21 4 RC3/8 30 15 45
RH-200 200 | 35 245 145 120 55 70 35 130 232 M36x4 12~M16x30 38 5 RC1/2 31 16 43

AUTOGRIP /6



il
[
i
il
ft

RA b & 700 42 78 [BR ]

ROTATING AIR CYLINDER

LEEREAIRERATRESSHENAN - E8K -
LEESSRRET  EFRRESAERERERN)  ROREBESKE
® The rotary valve and cylinder body, all made of special light alloy, are light-
weight.
®  Through unique design, the rotary valve can considerably reduce the waste
in compressing air and efficiently increase its utillization.

n FAFK AREAMENHE -
m  When used, a little oil mist should be contained.

L
A: 1.D.AK
|/
{:":77'
h 5 _
Al Sy
AT STwl w al o] m
N ——-u QI RV, § Q| 8 Q
3 K
/ L |
[ T I
‘15 36.5
! N
Silencer 2~RC1/4”
JHE R Pressure Port
wR
95 H G
J
RIS ERAER
Subject to technical changes
K li#1& SPECIFICATIONS
itk SEZEMEME Eff. piston area 112 OB BefEREN I 52 ZERAERE
vo #{l(Extend) HIfil(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia = Weight | Air Leakage( 6kgficm?)
= Model
i cm? cm? mm min”(r.p.m.) MPa(kgf/cm?) kg-m? kg cc/sec
S
| RA-100 77.0 74.4 15 6000 0.8(8) 0.03 3.9 400
ﬁ RA-130 131.2 124.7 15 5000 0.8(8) 0.05 5.2 400
RA-170 225.4 219.0 20 5000 0.8(8) 0.18 8.5 400
RA-220 378.6 369.3 25 4000 0.8(8) 0.36 14.5 400
RA-270 571.0 562.9 30 3000 0.8(8) 0.75 18.4 400
SMEIR < DIMENSIONS
E G G
Model A B © D ) F o, . H J K L M (H8) N
RA-100 100 130 - 80 60 22 50 35 65 160 M12x1.75 6-M8x16 13 25
RA-130 130 160 120 90 65 25 45 30 70 165 M16x2.0 6-M8x16 17 30
RA-170 170 200 140 100 80 25 45 25 85 180 M16x2.0 6-M10x18 17 30
RA-220 220 255 170 130 110 30 50 25 91 186 M20x2.5 6-M12x20 21 85
RA-270 270 305 190 130 110 35 55 25 105 200 M24x3.0 6-M12x20 25 40

77 AUTOGRIP



M rRs EiEnEsnREEGRT s

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL AND SATETY DEVICE

WA SE - TG ERE W -

%KEEEL&S%E% TIRARES - DJHERHERGLIEE(FE -

PRI L B SRS R B TR RS -

LRI o HERHEE 2 -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

® Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

u 5%%%?58@“?&2\%3%?%@593@% PUB e E L B B

B TREBAEEBUENSREEMRRESE - (5 iﬁ—iuc'u )

u The drain port should be independently connected to oil tank to avoid back pres-
sure.

Stroke Detection Type can be customized to Linear Positioning System.

.|
=
R
19 31‘
.|
ﬁ\
§
N
o

=
{Qz}\

2x2~M5x0.8

“% T

=== -
ALD. A7 5 r
Q’l B:St 1712 %Tj‘
_ ?iu- wl 8 5l o
(i EITESIES RS RSIRSIRS
, | Hinys
1‘ 1 RC1/4” T _H
Drain Port %7, /‘ “E5
78 27(RS-200:29.5) ‘\ﬂ i L
2~RC3/8"(RS-200:RC1/2") H2 H G
Pressure Port #5817 J
RS-200 RS-75,100,125,150
IRBREIE LT
Subject to technical changes
R li#31% SPECIFICATIONS
HlgR JEZEEE Eff. piston area 712 o EEY e EREN | 2
7o
Vodel # il (Extend) Hi1fil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight =5
ode §
cm? cm? mm min'(r.p.m.) MPa(kgf/cm?) kg-m? kg ;;.i
RS-75 43.0 371 15 6000 4.0 (40) 0.01 3.4 55
B
RS-100 77.4 715 20 6000 4.0 (40) 0.04 4.9 ;’I’
RS-125 121.6 113.1 25 6000 4.0 (40) 0.05 7.4
RS-150 175.6 160.8 30 5500 4.0 (40) 0.10 10.7
RS-200 313.0 290.4 35 5500 4.0 (40) 0.29 15.9
4M R <) DIMENSIONS
E G G M
Model A B Cc D1 D2 (h7) B i | cin H H1 H2 J K L L1 L2 (H8) N
RS-75 75 15 107 90 90 65 30 45 30 57 42 145 | 202 M20x2.5 6~M8x16 M8x60 12 21 35
RS-100 100 20 132 115 100 80 | 30 | 45 25 72 42 145 | 217 @ M20x2.5 6~M10x20 M8x75 12 21 B5)
RS-125 125 25 160 140 130 110 35 | 50 | 25 82 41 144 | 226 @ M24x3.0 6~M12x20 M8x85 12 | 25 45
RS-150 150 30 190 170 130 110 45 55 25 | 95 39 142 237 M30x3.5 | 12~M12x24 M10x100 16 | 32 45
RS-200 200 | 35 245 220 145 120 55 | 70 | 35 115 34 [142.5 2575 M36x4.0 | 12~M16x30 @ M10x125 | 21 38 60

* 3T%B3R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AUTOGRIP 78



[SEEvSES

T2 2l AL JE B [BR ]
ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL

A RS-N

A S - (TI2EHI AR ER ] -

RETVO R - TIRREES - OIERVHERELIEE{FE -

LR HEREE 2 -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

® Can screw it from the rear end of the cylinder when mounting.

n CRMAREBNERZEOEEE DUBRELTRE -

B TREBAEB ISR EA R FEE - (F1Hm)

m  The drain port should be independently connected to oil tank to avoid back
pressure.

m  Stroke Detection Type can be customized to Linear Positioning System.

6~L1 L2
===
' | ALD R I
T B: St. 1712 7:;; _
ATy aae
RC1/4” ’W:ﬁ A_‘_— N
Drain Port S&iA7, 511 5 (==
| 10 EAINR NS
2-RC3/8"(RS-200N:RC1/2") | 13144S-200N:134.5) H G
RS-200N Pressure Port 4 H4L J
Setioet o el changes
#iili#34& SPECIFICATIONS
HlgR SEZEHEME Eff. piston area 712 B mEg e EREN | 2
# {3 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model cm? cm? mm min(r.p.m.) MPa(kgflcm?) kg-m? kg
RS-6520N 32.0 28.3 20 6000 4.0(40) 0.01 3.2
RS-6530N 32.0 28.3 30 6000 4.0(40) 0.01 83
:%;é RS-75N 43.0 371 15 6000 4.0(40) 0.01 3.3
;% RS-7530N 43.0 371 30 6000 4.0(40) 0.013 3.7
;g RS-100N 77.4 71.5 20 6000 4.0(40) 0.04 4.8
;E RS-125N 121.6 113.1 25 6000 4.0(40) 0.05 7.3
RS-150N 175.6 160.8 30 5500 4.0(40) 0.16 10.6
RS-200N 313.0 290.4 35 5500 4.0(40) 0.29 15.9
SMEUR S DIMENSIONS
Model A B C DI D2 (57) FoS S n J K L L1 L2 (ms) N
RS6520N 65 20 97 80 80 60 25 45 25 62 193 M16x20 6~M8x16 M6x70 145 17 30
RS6530N 65 30 97 80 80 60 25 45 15 62 203 M16x20  6~M8x16 M6x80 145 17 30
RS-75N 75 15 | 107 = 90 90 65 30 45 30 57 188 M20x2.5 6~M8x16 M8x60 12 21 35
RS-7530N 75 30 107 90 90 65 30 45 15 72 203 M20x2.5 6~M8x16 M8x75 12 21 85
RS-100N 100 20 132 115 100 80 30 45 25 72 203 M20x2.5 6~M10x20 M8x75 12 21 35
RS-125N 125 25 160 140 130 110 35 50 25 82 213 M24x3.0 6~M12x20 M8x85 12 | 25 45
RS-150N 150 | 30 | 190 170 130 110 45 55 25 95 226 M30x3.5 12~M12x24 M10x100 16 | 32 | 45
RS-200N 200 35 245 220 145 120 55 70 35 115 2495 M36x4.0 12~M16x30 M10x125 21 38 @ 60

* JT%B3R : DC 10-30V 100mA NPN °

79 AUTOGRIP

*Proximity sensor : DC 10-30V 100mA NPN.




RL P38 1 1 f8 ) 7K B 2 855 BR AL

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SATETY DEVICE

B - EKEEEMET - o LBREIRHEATIHIK -
R I8 B SHE R R ER -

To allow coolant to be feed from the rear end of the distributor through the
rotating union
® Built-in safety check valves and pressure relief valves.

L] 5%5&%@?4?&2\%3%%@55}53% DB REEER
nOEKAERREEER  B2ES -

The drain port should be independently connected to oil tank to avoid back
pressure.
m  The rotary cylinder should not run without liquid through coolant port.

6~L1 »’L_Z‘«
]
] . d
=GR “
RC1/4" - h_
Coolant Port {£7K#, — ’S Islt)ﬁ%; 8
/_‘ﬁ : St. T»H«
() N e Allslslw alg o
o T I “ﬁ“l-;gf SIRSIRS
© i TN XK
RGA/8" HE R \} | __F
Coolant Drain Port 87K, j—
<& 20 H1 S
T
RC1/4” 11 5 L
13,13 @ Drain Port S8387, Ho H 5 =
60 C e
1
J
(
5
- 2~RC3/8"(RL-200:RC1/2")
C-Dr AH B| Dr Pressure Port  #55H17L
PV Limit value 14400 MPa-r/m
PV BRHIE
REBRIBIELH R
Subject to technical changes
F1li#1& SPECIFICATIONS
FISR JEZEMETE Eff. piston area 1712 EeEEg EeERES KA EEERES I 52
: Coolant connection — .
Mode! 818 (Extend) 118 (Retract) Piston stroke Max. speed Max. pressure Max. pressure Moment of inertia Weight "
cm? cm? mm min(r.p.m.) MPa(kgficm?) MPa (kgf/cm?) kg-m? kg S
BR
RL-75 42.6 371 15 6000 4.0(40) 3.5(35) 0.01 3.1 %
RL-100 77.0 715 20 6000 4.0(40) 3.5(35) 0.04 46 f
L
RL-125 121.2 113.1 25 6000 4.0(40) 3.5(35) 0.06 7.1
RL-150 175.2 160.8 30 5500 4.0(40) 3.5(35) 0.10 9.7
RL-200 312.5 290.4 35 5500 4.0(40) 3.5(35) 0.30 15.6
SN~ DIMENSIONS
Model A B C D1 D2 (5) F ' Gmax. Gmin. H H1 H2 J K L L1 L2 (I-’\llé) N
RL-75 75 15 107 90 H 90 | 65 30 45 30 | 57 | 42 137 194 | M20x2.5 6~M8x16 M8x60 12 1 21 | 35
RL-100 100 20 132 115 100 | 80 K 30 45 25 | 72 | 42 137 209 @ M20x2.5 6~M10x20 M8x75 12 | 21 | 35
RL-125 125 25 160 140 130 | 110 35 50 25 | 82 41 136 218 M24x3.0 6~M12x20 M8x85 12 | 25 | 45
RL-150 150 30 190 170 130 | 110 45 55 25 | 95 39 134 230 | M30x3.5 12~M12x24 M10x100 16 | 32 45
RL-200 200 35 | 245 220 145|120 55 70 35 115 36 132 248 | M36x4.0 12~M16x30 M10x125 21 | 38 | 60

autocrip 80



ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION

’ RL-N )& 7K BU 300 826 [BR 1] S

o B HKAVEEMEG - o] AHEREATIHIK -

o ZEFUHERHEEY -

® To allow coolant to be feed from the rear end of the distributor through the
rotating union.

® Can screw it from the rear end of the cylinder when mounting.

B ORHAREBRVEBELMEE  DBRRELESE -

n EKAERRRER  B7EE -
The drain port should be independently connected to oil tank to avoid back
pressure.

m  The rotary cylinder should not run without liquid through coolant port.

6~L1 »’L_j«
RC1/4” .
Coolant Port {#7KF, A LD. A [17g I
B:St. 7% || . i.
% ] ==
N N e [ Hﬁsil-l- o=
v/ | o | TSI CTR=TR=TRS
& j - QS
s f G |‘: B 71'\ N \i(
RC1/8" 7\ Ll L | .
Coolant Drain Port 27K, j—
- 20 28 S
RC1/4” 5 L
18, 18 Drain Port 27, 110 =
3.5 H G
60
C| J
( 2~RC3/8”(RL-200N:RC1/2”)
A Pressure Port #H 7L
C-D -3
PV Limit value 14400 MPa.r/m A B | Dr
PV BRHIME
(REBRIEBAOHER
Subject to technical changes
$% 1T #31% SPECIFICATIONS
pillr SEZEMETE Eff. piston area 712 ReOE BaEREN FEKA RS ERES | S
N Vodel 818 (Extend) HiI{fl(Retract) Piston stroke Max. speed Max. pressure Coal:;t:;r;r;i(;zon Moment of inertia Weight
% cm? cm? mm min’'(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
/|
J& RL-75N 42.6 37.1 15 6000 4.0 (40) 3.5(35) 0.01 3.0
o
i RL-100N 77.0 715 20 6000 4.0 (40) 3.5(35) 0.04 45
i
RL-125N 121.2 113.1 25 6000 4.0 (40) 3.5(35) 0.06 7.0
RL-150N 175.2 160.8 30 5500 4.0 (40) 3.5(35) 0.10 9.6
RL-200N 3125 290.4 35 5500 4.0 (40) 3.5(35) 0.29 15.5
ShEYR<T DIMENSIONS
Model A B © D1 D2 (:157) F | G max. G min. H J K L L1 L2 (}"\|/I8) N
RL-75N 75 15 107 | 90 90 65 30 45 30 57 180 M20x2.5 6-M8x16 M8x60 12 21 35
RL-100N 100 @ 20 132 115 100 | 80 30 45 25 72 195 M20x2.5 6-M10x20 M8x75 12 21 35
RL-125N 125 | 25 160 | 140 | 130 110 35 50 25 82 | 205 M24x3.0 6-M12x20 M8x85 12 25 | 45
RL-150N 150 @ 30 190 | 170 | 130 110 45 55 25 95 | 218 M30x3.5 12-M12x24 M10x100 16 32 45
RL-200N 200 | 35 | 245 220 145 120 55 70 35 115 | 240 M36x4.0 12-M16x 30 M10x125 21 38 60

81 AutocriP



T 5 Y30 855 [BR ]

ROTATING HYDRAULIC CYLINDER WITH AIR CONNECTION

[SEEvSRS

B IRBEERERL - UERRRHAESR -
ZERFOHRIHEEZ -

® To allow compressed air to be feed from the rear end of the distributor
through the rotating union.

® Can screw it from the rear end of the cylinder when mounting.
n FAR BREAMENHE -
o IRAEKREERER  BYEHE-
®  When used, a little oil mist should be contained.
m  The rotary cylinder should not run without air passing through the air port.
6~L1 4’5‘«
RC1/4”
Air Port {£& 7L A l.D. A€ [ ) I
B:St. 7% | |2
‘i 7% :
=l | [l—— (TS el | o =
D B o 1 — Q AlalQ
<> o Sl SIS ¥)5/8 8
"L et N
ROUA =l
\6%/ Drain Port 8#7L 57 28 ==
1 13 2~RC3/8"(RL-A200N:RC1/2”) | 10 S NL
Pressure Port  #4#7L 1095 H G
60 _| ar
T J
It
A B | Dr
REBIEIEBLORT
Subject to technical changes
$ T #31% SPECIFICATIONS
BISR SEEETE Eff. piston area 1772 EeEEg EeEAES ARBESEREN I 5=
. Air connection — .
o 88 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure Max, pressure Moment of inertia Weight
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RL- A75N 42.6 37.1 15 6000 4.0(40) 0.8(8) 0.01 3.0
RL- A100N 77.0 715 20 6000 4.0(40) 0.8(8) 0.04 4.5
RL- A125N 121.2 113.1 25 6000 4.0(40) 0.8(8) 0.06 7.0
RL- A150N 175.2 160.8 30 5500 4.0(40) 0.8(8) 0.10 9.6
RL- A200N 312.5 290.4 35 5500 4.0(40) 0.8(8) 0.29 15.5
SNEYR T DIMENSIONS
E G G M
Model A B @ D1 D2 (h7) ol max | min. H J K L L1 L2 (H8) N
RL- A75N 75 15 107 | 90 90 65 30 45 30 57 166 M20 x2.5 6~M8x 16 M8x60 12 21 35
RL-A100N 100 20 132 | 115 | 100 80 30 45 25 72 181 M20 x2.5 6~M10x20 M8x75 12 21 35
RL-A125N 125 25 160 | 140 130 110 35 50 25 82 191 M24x 3.0 6~M12x20 M8x85 12 | 25 | 45
RL-A150N 150 30 190 170 130 110 45 | 55 25 | 95 | 204 M30x3.5 12~M12x24 M10x100 16 @ 32 | 45
RL-A200N 200 35 | 245 220 145 120 55 70 35 115 | 225 M36 x4.0 12~M16x30 M10x125 21 38 | 60

AUTOGRIP 82

7
o
i@
i
i




2z
i
[
]
L
il

RC

3 88 157 55 S AU T S [BR ]
HYDRAULIC CYLINDER WITH ROTATING JOINT

LI REasMNER

oS B MR -
OSMEERENEBFEEEER  ARWERE
NEE LRI B AR -
Ol fo i 3 FRR S AR AT RS ORISR IEITIT IR 4 -

SRR O KB EE K -

Center through-hole hydraulic cylinder, suitable for horizontal CNC lathes.

® Can choose an external rotary joint with either single or double paths.
® |t meets the demand for coolant through spindle and airtight pressure detect

function.

® Has a buil-in check valve for safety.
® Stroke control via proximity switch or linear positioning system.

IR RIMNEERES

LRENERELERER -

m  The proximity switch and single or double paths rotating joint are optional.

L2

6~L1
20
10 sl B 5
=
S A: 1.D.AR
%~R AB —— B: St. 1712
ressure port A,
.n“: ,B é o - K
N
2ol I A ~r ]
o © Slelw al §
g%gﬁLi Sy | § s s 8§
8 — = |
M1
I )
I ;Hj LUl N
Dr
23.5 ‘
Q||P
H
G2 J G1
REBRIBIELAER)
Subject to technical changes
2T #71% SPECIFICATIONS
RIS JEZEETE Eff. piston area 1112 EeEg EaEREN | 5=
{3l (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min”(r.p.m.) MPa(kgflcm?) kg-m? kg
RC-85 43.8 481 20 5000 3.5(35) 0.01 6.8
RC-100 65.6 64.4 20 5000 3.5(35) 0.02 9.2
RC-125 109.8 108.5 25 5000 3.5(35) 0.03 1.1
RC-145 152.2 143.9 30 5000 3.5(35) 0.03 14.6
RC-200 279.3 273.6 35 4000 4.0(40) 0.26 35.5
SMEUR T DIMENSIONS
Model A B C1 C2 D E (h7) 7 G1max. G1min. G2max. G2min. H J K
RC-85 85 20 120 116 100 65 30 45 25 28 8 70 150 M20x1.5
RC-100 100 20 135 131 115 80 40 45 25 28 8 72 158.5 | M30x1.5
RC-125 125 25 160 156 140 110 40 50 25 33 8 78 164 M30x1.5
RC-145 145 30 187 183 165 110 50 55 25 38 8 89.5 169.5 | M40x1.5
RC-200 195 35 257 257 225 120 55 73 38 51.5 16.5 120 222.5 | M36x4.0
Model L1 L2 M(H8) M1 N P Q Q1 R S1 S2 T T2
RC-85 6~M8x75 12.5 20.5 10 40 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-100 6~M8x75 12.5 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-125 6~M8x80 11 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-145 6~M10x90 18 42 12 57 14 4 S RC3/8 31 M4x10 48 M5x9
RC-200 6~M16x130 26 38 12 65 15 6.5 4 RC1/2 35 M4x10 60 M5x11

83 AuTtoGRIP




HYDRAULIC CYLINDER WITH ROTATING JOINT

’ RC 3 8 452 OB SN B 10 e S JBR AL BT

o OEEENIERBALENL -
® Rotating joint and Proximity switch with bracket type.

With single path rotating joint (Fixed type) With double paths rotating joint(Fixed type)

L -
[ A==
qu | @
s
|
a s —
M1 BE - EmE M2 BET - &ma
With single path rotating joint(Moving type) With double paths rotating joint(Moving type)

B MR AN AN SR S RN R

linear Sensor with bracket Proximity switch with bracket

2z
i
[
@
L
il

<SRRI R T - * The proximity switch and rotary joiint are optional.
* O EFT S @AM IR - * Choose and attach the appropriate type.

P RHMRENER R R R - * Please contact AUTOGRIP for more detailed drawing.

AuTOGRIP 84



=
i
A
a
L
il

== A
W &
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

2 A

h 8 0§ BREL (— )

SREER

B

IERAT

MW EE S ER AT -
NI B SR - R B RITRERILEERRE -
ZEREHEREEZ
For short form, light weight and high speed rotary cylinder.
Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.

HAREB N EIBELREE  DERELESE -
TRBAKBUEAREUEEMARES - (FHMm)

The drain port should be independently connected to oil tank to avoid back

pressure.

Stroke Detection Type can be customized to Linear Positioning System.

2~RC3/8" & =)
P Port AB : _
EHALAB [F=— AID.mE| N K
, B:|St. 1712 /
[ ] X ——
LD yaimmml J wl wl ol o
5| W T & S, 8 § 8
| 15 S
H
. | |125 - ==
Drain Port ‘ NL
S H L1
[ J G
Drf AB
REBRIBIEUAER)
Subject to technical changes
g #i1t& SPECIFICATIONS
RIS JEZETE Eff. piston area 172 EeEEg EaERES | 582
# il (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min'(r.p.m.) MPa(kgflcm?) kg-m? kg
RE-110 92.7 87.9 20 6000 3.5(35) 0.02 6.9
RE-120 110.8 106 21 6000 4.0(40) 0.03 8.8
RE-130 130.4 123.1 30 6000 4.0(40) 0.03 9.1
4M R <) DIMENSIONS
C G G M
Model A B (n7) D E F o it H d K L L1 (H8) N
RE-110 110 | 20 145 | 128 | 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 35
RE-120 120 21 168 | 145 42 29 60 39 69.5 148 M20x2.5 6~M10x75 17 22 B5)
RE-130 130 | 30 168 | 150 | 50 33 60 30 79.5 158 M24x3.0 6~M10x85 17 27 40

* 3T#%B3R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

85 AuToGRIP



COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

A re EEEsRemEmama ) mann

SR - KEHSAPERERG - FhlESERARIAER -
NI B SR - R B RITRERILEERRE -
ZEREHEREEZ

For short form, light weight and high speed rotary cylinder, suitable for
vertical lathe.

Built-in safety check valves, pressure relief valves and proximity sensor.

Can screw it from the rear end of the cylinder when mounting.

M A R EB L ERELHEE  DUBERELE R

TR OE SR I E AL R RS - ( Ti’f—ic‘?u )

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

~ L2
2x2~M5x8 (L“\
W ===
dndth
4 T v
S .
1/ L _
[ — 5
. K
A: 1.D. A
B: St| 1712
A Siulw AN| —
) - - - Qla
g s8] g ©
\ 1
1 O
2~RC1/2" 4‘ P E\1 ~L
Pressure BPort AB —
(RE 1502 ~RC3/8")
- H G
RC3/8" J
Drain Port JEAFL
(RE-150:RC1/4") f
Dr | AB
REBRBIELAETR
Subject to‘technica\ ‘changes EI‘D:
g #i1& SPECIFICATIONS ;Ei
RIS JEZEETE Eff. piston area 112 EeEEg EaERES | 58 ﬁ
# {8 (Extend) 118 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight [
Model
cm? cm? mm min'(r.p.m.) MPa(kgf/cm?) kg-m? kg il
RE-150 174.4 160.8 30 5500 4.0 (40) 0.06 14.9
RE-200K 292.4 274.9 895) 4000 4.0 (40) 0.19 29.1
RE-200L 292.4 265.4 50 4000 5.0 (50) 0.21 30.4
RE-250 465.2 438.2 60 2000 5.0 (50) 0.43 47.2
4R <) DIMENSIONS
E G G M
Model A B C D1 D2 (h7) F P e H J K L L1 L2 (H8) M1 N P Q
RE-150 150 30 205 180 130|110 45| 60 30 99 | 177.5 M30x3.5 M12x24 M12x105 185 32 10 | 50 12.5 114
RE-200K 195 35 257 225 145 120 55 73 38 120 239 M36x4.0 M16x30 M16x130 | 27 | 38 12 65 15 150
RE-200L 195 50 257225 170125 65 80 30 135 254 M42x3.0 M16x30 M16x145 | 27 | 45 12 | 65 15 150
RE-250 245 60 307 275 220160 65 85 25 165 280 M42x3.0 M20x35 M16x175 | 28 | 45 12 65 15 150

* ¥1#%F9R3 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AUTOGRIP 86



COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

A RE-A EEEEREmEEmET () sumnm

SR KSEERGITREEHEL - JARERHEER -
R R B SEE - RBRRE RATIE IR HT HE R -

ZERUBERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

MR EBEMEBELREE  DEREESE -
e - BREAMERMTE -

AR FREEAR  BVEE -
TRBAEBUEXREUEEULRRHEE - (FHM)

The drain port should be independently connected to oil tank to avoid back pres-

sure.
When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.
The rotary cylinder should not run without air passing through the air port.

,‘ | =
1 L = —
Th=— ap.r&E | N K
B: St. 1712 /
INPS s O
— i _ | wiw A
‘é { \ | QI Q| 9l
8
“%Q 15
-+
o R ==
12.5
H L) kb
2~RC3/8” , M J G
Pressure Port A,B RC1/4 o AB
#m+L A,B Drain Port 8587, Dr |,
ba
— REBRIBIELAER)
;E Subject to technical changes
B 141381 SPECIFICATIONS
o
RIS JEZEETE Eff. piston area 1712 EeEH E=ERAES ARNESERES I B8
i
il 848 (Extend) HiI{8) (Retract) Piston stroke Max. speed Max. pressure ,:;Iir T Moment of inertia Weight
Modl ax. pressure
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-A110 91.2 87.9 20 6000 4.0(40) 0.8(8) 0.02 6.9
RE-A120 109.3 106 21 6000 4.0(40) 0.8(8) 0.02 8.8
RE-A130 128.9 1231 30 6000 4.0(40) 0.8(8) 0.03 9.1
SMEUR~F DIMENSIONS
C G G M
Model A B (h7) D E F e | i H J K L L1 (H8) N
RE-A110 110 20 @ 145 | 128 @ 42 29 60 40 66 | 146 M20x2.5 6~M8x70 12 22 38
RE-A120 120 21 168 | 145 @ 42 29 60 39 | 69.5 148 M20x2.5 6~M10x75 17 22 38
RE-A130 130 | 30 168 | 150 50 33 60 30 | 795 158 M24x3.0 6~M10x85 17 27 43

* 3% BAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

87 AuTOGRIP



TSRS AT R EHEE () BREED

COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

A RE-A

SR KSEERGITREEHEL - JARERHEER -
R R B SEE - RBRRE RATIE IR HT HE R -

ZERUBERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

Can screw it from the rear end of the cylinder when mounting.

A REE Y EEELREE DR ESEE -

FAK  FEAMERETE -

ARABRIRBBE  BF2EHE -

TEBHEBOEUNREYEURREE - (F]Hm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.

The rotary cylinder should not run without air passing through the air port.

2x2~M5x8 6i‘1\ <L—2»‘
\
j L B—— s D
e i 5
e Tl — -
= A:1.D. A TEU_UJN
f o |l EtpinnE = 3l 5lo
S b B: St| 112 ST SIESIRS
ca .
=S NI
R = =
Pressure Port A,.B p 12~L
i, AB JLr _
(RE-A150:2~RC3/8") = —
RC3/8" Air | H G
Drain Port ;8H+L —15s ‘
(RE-A150:RC1/4”) J
RC1/4”
Air Port =R I
(RE-A150:RC1/8”) br | AB
REBRIBIE LR
Subject to technical changes gI‘D:
#i31& SPECIFICATIONS i
BR
EISR JEZEETE Eff. piston area 1772 =B EaERRT AREESERES I 3 ;E
Vodel {3l (Extend) HIfil(Retract) Piston stroke Max. speed Max. pressure G;;O;Zg:iﬁz Moment of inertia | Weight ﬁ
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-A150 174.4 160.8 30 5500 4.0(40) 0.8(8) 0.06 14.9
RE-A200K 292.4 274.9 35 4000 4.0(40) 0.8(8) 0.19 29.1
RE-A200L 292.4 265.4 50 4000 5.0(50) 0.8(8) 0.21 30.4
RE-A250 465.2 438.2 60 2000 5.0(50) 0.8(8) 0.43 47.2
4R ST DIMENSIONS
E G G M
Model A B (o] D1 D2 (h7) F o | i H J K L L1 L2 (H8) M1 N P Q
RE-A150 150 30 205 180130 110 45 60 30 99 1775 M30x3.5 M12x24 M12x105 (185 32 | 10 50 12,5/ 114
RE-A200K 195 | 35 257 225 145 120| 55 | 73 | 38 120 239 M36x4.0 M16x30 M16x130 27 38 12 65 | 15 150
RE-A200L 195| 50 | 257 225 170 125| 65 | 80 30 135 254 M42x3.0 M16x30 M16x145 | 27 45 12 65 15 | 150
RE-A250 245 60 307 275 220 160 65 85 25 165 280 M42x3.0 M20x35 M16x175 | 28 45 12 65 15 150

* 3% BAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuToGRIP 88



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

’ RE-L HEESILDCBMmEET (—) n—

5% KERSIT/KEEMRL - JEHBREATIEIK -

NP LB RS  REBERITREERITERE -
ZERFEHERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union.

Built-in safety check valves, pressure relief valves and proximity sensor.

Can screw it from the rear end of the cylinder when mounting.

SERALEC SN B EEORERE DR RELESEE -

EKALERISEIB  FYEHE -

TRBAEBIEBISREEULRREE - (F/Hm)

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

Stroke Detection Type can be customized to Linear Positioning System.

2~RC3/8” L
Pressure Port A,B
#MfL AB

=

oM

-~ A:LD. Wy 3
10 |V B-si e L]

o114
oF
OE
oD
oC

RC1/8” ‘ 4 —_
Coolant Drain Port i —
JEIKAL

235/ 125 ‘ H L1 L

RC1/4”
3 RC1/4”
Collant Port JE7KA, Drain Port 3387,

g

@I

N RBAGELER

/Bﬂ Subject to‘technlca\ Lhanges

BR

g $: T #34% SPECIFICATIONS

[ Eith JEZEHTE Eff. piston area 712 EeOEy ==EREN FKAEEERES | 58

il 1B 4(Extend) HiIffl(Retract) Piston stroke Max. speed Max. pressure Co'alant Gl Moment of inertia Weight

Model ax. pressure
cm? cm? mm min”(r.p.m.) MPa(kgficm?) MPa (kgf/cm?) kg-m? kg

RE-L110 92.7 87.9 20 6000 4.0(40) 1.5(15) 0.02 7.2
RE-L120 109.3 106 21 6000 4.0(40) 1.5(15) 0.03 9.1
RE-L130 128.9 1231 30 6000 4.0(40) 1.5(15) 0.03 9.5

SMEYR <) DIMENSIONS

Model A B (h7) D E F max. min. H J K L L1 (He) N

RE-L110 110 20 145 128 42 29 60 40 66 169.5 M20x2.5 6~M8x70 12 22 38

RE-L120 120 21 168 145 42 29 60 39 69.5 1715 M20x2.5 6~M10x75 17 22 38

RE-L130 130 30 168 150 50 33 60 30 795 1815 M24x3.0 6~M10x85 17 27 43

* 3T%B3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

89 autocRrIP



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

’RE_LJr §E2 A RS /K B 855 BR L () BHEL

o & KEERGET/KEEMEL  cERBRHEATIHIK RHESER
RIIFAER -

o NEBYIFFEHEE - BB RTREESIIIERE -
LRI o HERHEE 2 -
For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union, suitable
for vertical lathe.
Built-in safety check valves, pressure relief valves and proximity sensor.

°

Can screw it from the rear end of the cylinder when mounting.

SORAECEH N BB ELOUNEE - DB RELES R
5$7J<%L;ﬁ§fﬁﬁ%LLH% BEHE -
TRBAEBIEBISRUEEULRFHEE - (F/Hm)
The drain port should be independently connected to oil tank to avoid back pres-
sure.
The rotary cylinder should not run without liquid through coolant port.
Stroke Detection Type can be customized to Linear Positioning System.

2x2~M5X8 6% L2
i | T ]
2~RC1/2" Gt Y & 5
Eressure Port A,B il
&) L 0 o
(RE L1502 ~RC3/8") Il K
< . = 7
- g | I ALD T =l 8| =]
Q| || NRIEE! - SIS
_% | - N L M1
12.5 | ———
CoIIant Port JE7KFL TEP——— i
‘ P — 12~L
1P —
25 L
RC3/8”
Drain Port 83#7, H G
(RE-L150:RC1/4") J
RC1/8” R
Coolant Drain Port 87KFL AHB
RBBIEIERAOHER
Subject to technical changes EE
}% 1T #31% SPECIFICATIONS ;@
BX
BISR JEZEMHTE Eff. piston area 1772 EeEY EeEAES KA EEERES | ] 8
818l (Extend) H1{8l(Retract) Piston stroke Max. speed Max. pressure Col\(;llant connection | vy ont of inertia Weight [
Model ax. pressure ﬁI
cm? cm? mm min-'(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-L150 174.4 160.8 30 5500 4.0(40) 1.5(15) 0.06 15.2
RE-L200K 292.4 274.9 35 4000 4.0(40) 1.5(15) 0.19 29.4
RE-L200L 292.4 265.4 50 4000 5.0(50) 1.5(15) 0.21 30.7
RE-L250 465.2 438.2 60 2000 5.0(50) 1.5(15) 0.43 47.5
ShEYR ST DIMENSIONS
E G G M
Model A B (o} D1 D2 (h7) F e | i H J K L L1 L2 (H8) M1 N P Q
RE-L150 150 | 30 1205 180130110 45 60 30 99 201 M30x3.5 M12x24 'M12x105 18.5 32 10 50 125 | 114
RE-L200K 195 35 257 225 145 120 55 73 38 120 264 M36x4.0, M16x30 M16x130 27 38 12 65 15 150
RE-L200L 195 50 | 257|225 170 125 65 | 80 | 30 | 135 279 M42x3.0 M16x30 M16x145 27 45 12 65 15 150
RE-L250 245 60 307 275 220 160 65 85 25 165 305 M42x3.0/ M20x35 M16x175 28 45 12 65 15 150

* 3T%B3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

autocrip 90



4 ro B35 L P 49 5030 8y R T e

DOUBLE ROD ROTATING CYLINDER WITH SAFETY DEVICE

m o K2 . ER5nEERT -

AR L7 B s & B R R -

For short form, light weight, double rod rotary cylinder.
Built-in safety check valves and pressure relief valves.

ML EB M EBELMERE  DEREESE -

m  The drain port should be independently connected to oil tank to avoid back

pressure.
,,,,,,,,, Cylinder A Cylinder B 6~M12x1.75x24
A: 1.D. A& q
s M42x1.5
. (L
B: I.D. A& 3517 _
£ M20x2.5
=== “AB Dr il i >
E= ‘ = g d—-g/8 5 9 e
S 1l oy 9] = = =
] = =T 5 ©°®
= RC1/4” W H 35
1313 Drain Port 2L 2 40.5 51,
0 — ']
] 2~RC3/8" )
60 Pressure Port ## 90 c F
D E
REBRIBIEAER)
Subject to technical changes
2 {ir#21% SPECIFICATIONS
J&EZ ETEES. piston area
BISE 718 R oA EeERRT | E8
7o # {8l (Extend) Hi1fil(Retract)
;gi A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
1 Model
4} cm? cm? cm? cm? mm min'(r.p.m.) MPa(kgf/cm?) kg:m? kg
L2
£ RD-120 122.7 126.1 116.1 113.1 20 5000 3.0(30) 0.14 11.3
RD-125 122.7 126.1 116.1 113.1 25 5000 3.0(30) 0.15 1.5
4hNEIR < DIMENSIONS
Model A B C D E max. E min. F max. F min.
RD-120 125 130 137 227 60 40 35 15
RD-125 125 130 147 237 55 30 35 10

91 AuToGRIP



=2t

SR AL S BR ]
DOUBLE ROD ROTATING CYLINDER

R . R - EREEE R -
For short form, light weight, double rod rotary cylinder.
n EHAREBRNEBECIREE  DURRELSE -
The drain port should be independently connected to oil tank to avoid back
pressure.

Cylinder A ?ylinder B 6~M12x1.75x24
. 1
ALD. Wi ﬁ M42x1.5
B, |,D_ W gé ‘ 35ﬁ - e @
i o ‘ l M20x2.5
| o
(é‘% %j} A B LDr ﬂ o — o o .’E ol o
N — © / O < | ~
= 5 o S I I
8 10| L%Ji Q
L RC1/4" L I 35
Drain Port %A, H
27, 28 5.1
13113 0 —=
" 2~RC3/8” .
Pressure Port #H7L 77 C F
60
D E
REBBREEL T
Subject to technical changes
Hfli#1% SPECIFICATIONS
JEZ HEES. piston area
itk 712 B ==ERES | E
{8 (Extend) HI{8l(Retract) pac]
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight ?
Model i
cm? cm? cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg:m? kg C|
#
RD-120N | 1227  126.1  116.1 | 1131 20 5000 3.0(30) 0.14 1.2 &1
RD-125N | 122.7 126.1 | 116.1 | 113.1 25 5000 3.0(30) 0.15 11.4
ShEIR T DIMENSIONS
Model A B C E max. E min. F max. F min.
RD-120N 125 130 137 214 60 40 35 15
RD-125N 125 130 147 224 55 30 H 10

AUTOGRIP 92



